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QUESTION 1

Under an advance factoring contract, following flow of money takes place: 

A: Factor pays a percentage of the invoice face value to the seller at the time of sale 

B: The remainder of the purchase price is held by factor until the payment by the account debtor is made. 

C:

 The cost associated with the transaction is paid upfront by the seller to the factoring agent. 

A. 

Only B 

B. 

A, B and C 

C. 

Only C 

D. 

Only A and B 

Correct Answer: D 

Reference: https://www.google.com/url? sa=tandrct=jandq=andesrc=sandsource=webandcd=2andcad=rjaanduact=8an
dved=2ahUKEwjgyrT_jdzeAhXlAMAKHS5AC
ywQFjABegQIBBACandurl=https%3A%2F%2Fwww.ansarbank.com%2FAssets%2FData% 2Fuserfiles%
2Ffiles%2FFactoring(zarineh).docxandusg=AOvVaw0OaoifqINnnvz3sRedVCii 

 

QUESTION 2

Following is information related banks: 

Auckland Ltd is a public sector bank operating with about 120 branches across India. The bank has been in business
since 1971 and has about 40% branches in rural areas and about 75% of all branches are in Western India. On the
basis of the size, Auckland Ltd will be ranked at number 31 amongst 40 banks in India. Although top management has
appointment period of 5 years, generally they retire on ach sieving age of 60 years with an average tenure of only 2
years at the top job. 

Profit and Loss Account 
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Balance Sheet 
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The rating wise break-up of assets for FY11 is as follows: 

The core spreads for FY13 as compared to FY12 have: 

A. Expanded by 136 bps 

B. Contracted by 327 bps 

C. Contracted by 136 bps 

D. Expanded by 191 bps 

Correct Answer: C 

 

QUESTION 3

Which of the following are types of bank guarantee? 

A. Deferred and Term 

B. Financial and Performance 

C. Usance and Sight 

Correct Answer: B 

Reference https://www.hdfcbank.com/sme/trade-services/letters-of-credit-and-bank-guarantees 

 

QUESTION 4

Based on the common size statement analysis which of the following statement regarding employee cost is correct? 
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A. The employee cost is expected to contribute 8% to decrease in PAT in FY15 

B. The employee cost is expected to contribute 7% to decrease in PAT in FY15 

C. The employee cost is expected to contribute 6% to decrease in PAT in FY15 

D. The employee cost is expected to contribute 5% to decrease in PAT in FY15 

Correct Answer: C 

 

QUESTION 5

Case Facts as on March 31, 2012 

Mark Construction Company (MCC) has bagged a contract for construction of a large dam and hydro power project on
river Shivna in Madhya Pradesh (MP). The project is also of relevance from the irrigation perspective due to its location
and as per the agreement MCC will have to undertake construction of web of canals, approach road to dam, power
house and other ancillary units. MCC is promoted by Mr. Thomas Mark, who is a MP from the ruling party which recently
formed government in MP. Historically, MCC has been engaged into construction of rural roads, small bridges and
railway platforms on contract basis for the Government. MCC will have a separate special purpose vehicle (SPV) floated
for this venture. 

The hydro power project comes under the public private partnership scheme of the Government of MP, where in the
private partner builds owns operates and transfers (BOOT) the hydro power plant. The detailed terms of the hydro
power project agreement are as follows: 

1.

 The construction of the dam, canals and hydro power plant shall be undertaken by the contractor. The Government of
MP will have to acquire land which will submerge on construction of dam and shall rehabilitate the owners of land. 

2.

 MCC shall have right to operate the hydro power project from date of commencement of commercial operations
(DCCO) for a period of 20 years and shall transfer the project to Government thereafter. Further, SPV shall be tax
exempt for a period of five years from DCCO i.e. FY17-FY21. 

3.

 The power project is of 600 megawatts (MW) shall comprise 4 units of 150 MW each. The estimated cost of project is
about INR3, 500 Million to be spent over a period of 4 year(s) the project is estimated to be commercially operational by
April 1, 2016 with two units operational om same day and one unit each will be operational on April 1, 2017 and April 1,
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2018. 

4.

 Means of finance: 

Means of Finance INR Million Government Aid (To be classified as Equity) 500Equity 900 Debt 2100 5. Amount if
expenditure estimated in various years is as follows: Funding Cost of Project INR Million Debt Govt Aid Equity Total
FY13 (April to march) 700 0 250 450 700 FY14 1200 500 250 450 1200 FY15 1200 1200 - 1200 FY15 400 400 - 400 

Debt shall bear a fixed rate of interest of 10% and all interest till DCCO shall be added to the principal. The expected
principal along with capitalized interest is expected to be INR2, 400 Million (i.e.INR2100 Million debt plus INR300 Million
capitalized interest). The repayment of the same shall be in 12 equated annual installments starting from FY17. 

Brief projections for the period of FY17 to FY21 are given below: 

Developments as on March 31, 2015 

The project manager for the SPV made following comments at a press conferee on March 31, 2015: 

As you all are aware, we were running bang on schedule till we last met on December 21, 2014. From today we are just
left with one more year to complete the project in time. However, the flash floods which struck our dam site on this
March 15, 2015 have created havoc in the region. I shall not point out the loss of lives in the region as you all are well
aware of those. Our project has also been badly hit due to the same and we have been assessing the damage over the
last one week. After analyzing damage, we have made changes in project schedule. Now we will be making only one
unit of 150 MW operational on April 1, 2016 and 1 unit each will be added in each of subsequent year(s). 

Development as on September 30, 2015 Post the flash floods, lot of environmentalists started raising issues of changes
in environment due to construction of large number of dams. A few Public Interest Litigations (PILs) have been filed in
various courts. 

Honorable High Court of MP on September 27, 2015, banned construction of any dams in the region and banned
permissions for new dams till next hearing scheduled on November 30, 2015. MCC in its press release has indicated
that they will apply to the higher court on the matter. 

On receiving the credit proposal, the banker informed the company that in FY17 the DSCR is below unity, which is not
acceptable to bank. Which of the following is correct? 

A. Had the cash accruals be more by INR50 Million, DSCR would have been unity. SPV can provide an implicit credit
enhancement for the same from MCC. 
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B. Had the cash accruals be more by INR8 Million, DSCR would have been unity. SPV can provide an implicit credit
enhancement for the same from MCC. 

C. Had the cash accruals be more by INR8 Million, DSCR would have been unity, SPV can provide an explicit credit
enhancement for the same from MCC. 

D. Had the cash accruals be more by INR12 Million, DSCR would have been unity. SPV can provide an explicit credit
enhancement for the same from MCC. 

Correct Answer: C 

 

QUESTION 6

Satish Dhawan, a veteran fixed income trader is conducting interviews for the post of a junior fixed income trader. He
interviewed four candidates Adam, Balkrishnan, Catherine and Deepak and following are the answers to his questions.
Q-1: Tell something about Option Adjusted Spread 

Adam: OAS is applicable only to bond which do not have any options attached to it. It is for the plain bonds. 

Balkishna: In bonds with embedded options, AS reflects not only the credit risk but also reflects prepayment risk over
and above the benchmark. 

Catherine: Sincespreads are calculated to know the level of credit risk in the bound, OAS is difference between in the Z
spread and price of a call option for a callable bond. 

Deepark: For callable bond OAS will be lower than Z Spread. 

Q-2: This is a spread that must be added to the benchmark zero rate curve in a parallel shift so that the sum of the risky
bond\\'s discounted cash flows equals its current market price. Which Spread I am talking about? 

Adam: Z Spread 

Balkrishna: Nominal Spread Catherine: Option Adjusted Spread Deepark: Asset Swap Spread Q-3: What do you know
about Interpolated spread and yield spread? 

Adam: Yield spread is the difference between the YTM of a risky bond and the YTM of an on-the-run treasury
benchmark bond whose maturity is closest, but not identical to that of risky bond. Interpolated spread is the spread
between the YTM of risky bond and the YTM of same maturity treasury benchmark, which is interpolated from the two
nearest on-the-run treasury securities. 

Balkrishna: Interpolated spread is preferred to yield spread because the latter has the maturity mismatch, which leads to
error if the yield curve is not flat and the benchmark security changes over time, leading to inconsistency. 

Catherine: Interpolated spread takes account the shape of the benchmark yield curve and therefore better than yield
spread. 

Deepak: Both Interpolated Spread and Yield Spread rely on YTM which suffers from drawbacks and inconsistencies
such as the assumption of flat yield curve and reinvestment at YTM itself. 

Then Satish gave following information related to the benchmark YTMs: 
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Who amongst the four candidates is correct regarding OAS? 

A. Only Catherine 

B. Only Deepak 

C. Only Adam and Catherine 

D. Only Deepak and Catherine 

Correct Answer: C 

 

QUESTION 7

Mr. Gopi, while teaching the CCRA course to students described Altman\\'s Model and stated that following variables do
exist for Altman\\'s Model: 

1.

 total debt/total assets, 

2.

 retained earnings/total assets. 

3.

 earnings before interest and taxes/total assets, 

4.

 market value equity/book value of total liabilities, 

5.

 sales/total assets 

Exactly how many variables are incorrectly identified? 

A. Exactly Four 

B. Exactly One 

C. Exactly Two 

D. Exactly Three 
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Correct Answer: A 

Reference: https://www.investopedia.com/terms/a/altman.asp 

 

QUESTION 8

Scott is a credit analyst with one of the credit rating agencies in India. He was looking in Oil and Gas Industry
companies and has presented brief financials for following 4 entities: Which of the following statements is incorrect? 

A. B Ltd has higher EBITDA margins as compared to C Ltd. 

B. D Ltd has higher EBITDA margins as competed to B Ltd. 

C. C Ltd has worst total debt to EBITDA ratio. 

D. B Ltd has worst interest coverage ratio. 

Correct Answer: A 

 

QUESTION 9

Which of the following is false in case of credit enhancements? 

A. It reduces the default risk of the borrowing entity for the lender, thereby deteriorating the overall credit worthiness of
the borrower 

B. Credit enhancement could be implicit or explicit 

C. Credit enhancement is a mechanism whereby external cash flows is extended by an entity which has a stringer credit
profile, so that it benefits the fund raising entity 

Correct Answer: A 

 

QUESTION 10

Basket Default swaps could be 

A. reference sectors could be from the same economy 

B. reference sectors could be the entire global space 

C. reference securities are from the same sector 

CCRA VCE Dumps | CCRA Practice Test | CCRA Braindumps                              9 / 13

https://www.passapply.com/ccra.html
https://www.passapply.com/ccra.html
https://www.passapply.com/ccra.html


https://www.passapply.com/ccra.html
2024 Latest passapply CCRA PDF and VCE dumps Download

Correct Answer: C 

 

QUESTION 11

"Following four entities operate in the Indian IT and BPO space. They all are into same segment of providing off-shore
analytical services. They all operate on the labour cost-arbitrage in India and the countries of their clients. Following
information pertains for the year ended March 31, 2013. 
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The year FY13, was typically a good year for Indian IT companies. For FY14, the economic analysts have given
following predictions about the IT Industry: 

A. It is expected that INR will appreciate sharply against other USD. 

B. Given high inflation and attrition in IT Industry in India, the wages of IT sector employees will increase more sharply
than Inflation and general wage rise in country. 

C. US Congress will be passing a bill which restricts the outsourcing to third world countries like India. While analyzing
the four entities, you come across following findings related to Glowing: 

Glowing is promoted by Mr.M R Bhutta, who has earlier promoted two other business ventures, He started with ABC
Entertainment Ltd in 1996 and was promoter and MD of the company. ABC was a listed entity and its share price had
sharp movements at the time of stock market scam in late 1990s. In 1999, Mr. Bhutta sold his entire stake and resigned
from the post of MD. The stock price declined by about 90% in coming days and has never recovered. Later on in 2003,
Mr. Bhutta again promoted a new business, Klear Publications Ltd (KCL) an in the business of magazine publication.
The entity had come out with a successful IPO and raised money from public. Thereafter it ran into troubles and
reported losses. In 2009, Mr. Bhutta went on to exit this business as well by selling stake to other promoter(s). There
have been reports in both instances with allegations that promoters have siphoned off money from listed entities to other
group entities, however, nothing has been proved in any court." 

Which entity is best in terms of overall gearing ratio and net gearing ratio respectively: 

A. Glowing and Beautiful 

B. Handsome and Handsome 

C. Glamorous and Glowing 

D. Glamorous and Glamorous 
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Correct Answer: C 

 

QUESTION 12

Which of the following is not one of the C in the 5 C Model? 

A. Capacity 

B. Capital 

C. Covenants 

D. Conditions 

Correct Answer: C 

Reference: https://www.investopedia.com/terms/f/five-c-credit.asp 

 

QUESTION 13

Change in priority ranking of reference obligations is: 

A. Obligation acceleration 

B. Obligation default 

C. Restructuring 

D. Repudiation 

Correct Answer: C 

Reference: https://books.google.com.pk/books?id=NDvNAgAAQBAJandpg=PA279andlpg=PA279anddq=credit
+Change+in+priority+ranking+of+reference+obligations +isandsource=blandots=L0YrHy6KrWandsig=NZErE0eK_DnEL
1UOYW3y7vZ2ogandhl=enandsa=Xandved=2ahUKEwi38JF_t3eAhXHAsAKHSKIBE4Q6AEwAHoECAkQAQ#v=onepa
geandq=credit%20Change%20in%20priority% 20ranking%20of%20reference%20obligations%20isandf=false 

 

QUESTION 14

Stand by letter of credits are typically taken as credit enhancement for___________ 

A. Commercial Paper 

B. Long term Bond issues 

C. Long term debenture issues 

D. Bank debt 

Correct Answer: D 
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Reference: https://www.investopedia.com/terms/s/standbyletterofcredit.asp 

 

QUESTION 15

Risk in CDS price is reflective of 

A. increase in probability of default 

B. increase in interest rates 

C. decrease in probability of default 

D. increase in recovery rates 

Correct Answer: A 
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